Applications of degenerate q-Euler and q-Changhee polynomials with weight α

Ömer Duran, Sibel Koparal, and Neşe Ömür

ABSTRACT. In this paper, we give new identities involving degenerate q-Euler polynomials with weight α and q-Changhee polynomials of the second kind with weight α , using the Faà di Bruno formula and some identities of the Bell polynomials of the second kind.

1. Introduction

Many famous scientists have defined special polynomials and given their applications in mathematics, science and engineering. There are recent investigations of identities for polynomials and numbers using their derivatives and the generating functions.

For $n \ge m \ge 0$, the Stirling numbers of the second kind $S_2(n,m)$ are the coefficients in the expansion of the falling factorial $(x)_n = x(x-1)\cdots(x-n+1)$ into powers of the real number x:

$$x^n = \sum_{m=0}^n S_2(n,m)(x)_m$$

and $S_2(n,0) = \delta_{n,0}$, where $\delta_{i,j}$ is the Kronecker delta [4]. These numbers satisfy the recurrence relation

$$S_2(n+1,m) = S_2(n,m-1) + mS_2(n,m),$$

and can be generated by

$$\sum_{n=m}^{\infty} S_2(n,m) \frac{t^n}{n!} = \frac{(e^t - 1)^m}{m!}.$$

Received June 20, 2022.

2020 Mathematics Subject Classification. 05A15, 05A19, 11B68, 33E20, 05A30.

https://doi.org/10.12697/ACUTM.2022.26.18

Corresponding author: Ömer Duran

 $Key\ words\ and\ phrases.\ q-Euler\ polynomials,\ q-Changhee\ polynomials,\ generating functions.$

The q-analogs are frequently studied in mathematical fields of combinatorics and special polynomials, physics, engineering. q-analogs also appear in the study of quantum groups, matrices, identities, dynamical systems, fractals, modular groups, designs, systems, oscillators etc. [1,3,9,14,16].

In various areas of science, special q-polynomials have been studied, such as q-Bernoulli polynomials, q-Euler polynomials, q-Changhee polynomials, degenerate q-Euler polynomials and degenerate q-Changhee polynomials. Further, algebraic and arithmetic properties of the polynomials can be found in [8, 10-12, 14-17, 19-24].

Let p be a fixed prime number. \mathbb{Z}_p , \mathbb{Q}_p and \mathbb{C}_p denote the ring of p-adic integers, the field of p-adic rational numbers and the completion of the algebraic closure of \mathbb{Q}_p , respectively. The p-adic norm $|.|_p$ is normalized by $|p|_p = \frac{1}{p}$. Let q be an indeterminate in \mathbb{C}_p such that $|1 - q|_p < p^{\frac{-1}{p-1}}$. The q-extension of a number x is defined as $[x]_q = \frac{1-q^x}{1-q}$. It is clear that $\lim_{q \to 1} [x]_q = x$.

It is well known that Euler and Changhee polynomials play an important role in combinatorial analysis and number theory. Euler polynomials [2,7] are defined by the generating function to be

$$\frac{2}{e^t + 1}e^{xt} = \sum_{n=0}^{\infty} E_n(x)\frac{t^n}{n!}.$$
(1)

In a special case, when x = 0, $E_n(0) = E_n$ is called the *n*th Euler number.

The q-Euler numbers are defined as follows [11, 12, 21]:

$$E_{0,q} = 1, \quad q(qE_q + 1)^n + E_{n,q} = \begin{cases} [2]_q, & \text{if } n = 0, \\ 0, & \text{if } n \neq 0, \end{cases}$$

with the usual convention about replacing E_q^i by $E_{i,q}$. The authors also gave

$$E_{n,q} = \frac{[2]_q}{(1-q)^n} \sum_{i=0}^n \binom{n}{i} \frac{(-1)^i}{1+q^{i+1}}.$$

In [2], Carlitz obtained the degenerate polynomials and numbers which are related to Euler polynomials to be

$$\frac{2}{(1+\lambda t)^{1/\lambda}+1}(1+\lambda t)^{x/\lambda} = \sum_{n=0}^{\infty} E_n(x\mid \lambda)\frac{t^n}{n!},$$

where $\lambda \in \mathbb{R} \setminus \{0\}$. It is seen that

$$\lim_{\lambda \to 0} \sum_{n=0}^{\infty} E_n(x \mid \lambda) \frac{t^n}{n!} = \sum_{n=0}^{\infty} E_n(x) \frac{t^n}{n!},$$

since $\lim_{\lambda \to 0} E_n(x \mid \lambda) = E_n(x)$.

The modified q-Euler polynomials, denoted by $\mathcal{E}_{n,q}(x)$, are defined by

$$\mathcal{E}_{n,q}(x) = \frac{[2]_q}{(1-q)^n} \sum_{i=0}^n \binom{n}{i} \frac{q^{ix}}{1+q^i}.$$

When x = 0, $\mathcal{E}_{n,q}(0) = \mathcal{E}_{n,q}$ is called the *n*th modified *q*-Euler number.

In [22], the authors gave the modified q-Euler polynomials with weight α as follows:

$$\mathcal{E}_{n,q}^{(\alpha)} = \frac{[2]_q}{(1-q^{\alpha})^n} \sum_{i=0}^n \binom{n}{i} \frac{(-1)^i q^{\alpha i}}{1+q^{\alpha i}}.$$

In [16], for any parameters α and β , the degenerate q-Euler polynomials with weight α are defined by the generating function to be

$$\frac{[2]_{q^{\alpha}}}{q^{\alpha+2\beta}(1+\lambda t)^{1/\lambda}+1}(1+\lambda t)^{x/\lambda} = \sum_{n=0}^{\infty} \mathcal{E}_{q^{\alpha},n}(x \mid \beta) \frac{t^{n}}{n!}.$$
 (2)

In the special case, when x = 0, $\mathcal{E}_{q^{\alpha},n}(0 \mid \beta) := \mathcal{E}_{q^{\alpha},n}(\beta)$ are called the degenerate q-Euler numbers with weight α .

The Changhee polynomials are defined by Kim et al. [10, 13] as the generating function to be

$$\frac{2}{t+2}(1+t)^x = \sum_{n=0}^{\infty} Ch_n(x)\frac{t^n}{n!}.$$

When x = 0, $Ch_n(0) = Ch_n$ are called Changhee numbers.

In [15], the degenerate Changhee polynomials are defined to be

$$\frac{2\lambda}{2\lambda + \log(1+\lambda t)} (1 + \log(1+\lambda t)^{1/\lambda})^x = \sum_{n=0}^{\infty} Ch_{n,\lambda}(x) \frac{t^n}{n!}.$$

When x = 0, $Ch_{n,\lambda}(0) = Ch_{n,\lambda}$ are called the degenerate Changhee numbers. For $n \ge 0$, $\lim_{\lambda \to 0} Ch_{n,\lambda} = Ch_n$ is given by [14, 15, 25].

The q-Changhee polynomials $Ch_{n,q}(x)$ are defined by the generating function to be (see [10])

$$\frac{1+q}{1+q(1+t)}(1+t)^x = \sum_{n=0}^{\infty} Ch_{n,q}(x)\frac{t^n}{n!} \quad . \tag{3}$$

When x = 0, $Ch_{n,q} = Ch_{n,q}(0)$ are called *q*-Changhee numbers and when q = 1, $Ch_n = Ch_{n,1}(0)$. In [16], the generating function of *q*-Changhee polynomials of the second kind with weight α , denoted by $C_{q^{\alpha},n}(x \mid \beta)$, is given by

$$\frac{[2]_{q^{\alpha}}}{q^{\alpha+2\beta}+(1+\lambda t)^{1/\lambda}}(1+\lambda t)^{(x+1)/\lambda} = \sum_{n=0}^{\infty} \mathcal{C}_{q^{\alpha},n}(x\mid\beta)\frac{t^{n}}{n!}.$$
 (4)

When x = -1, $\mathcal{C}_{q^{\alpha},n}(-1 \mid \beta) = \mathcal{C}_{q^{\alpha},n}(\beta)$.

In [4,5], the Bell polynomials of the second kind $\mathcal{B}_{n,k}(x_1, x_2, \cdots, x_{n-k+1})$, for $n \ge k \ge 0$, can be defined by

$$\mathcal{B}_{n,k}(x_1, x_2, \cdots, x_{n-k+1}) = \sum_{\substack{1 \le i \le n-k+1 \\ l_i \in \mathbb{N}_0 \\ \sum_{i=1}^{n-k+1} il_i = n \\ \sum_{i=1}^{n-k+1} l_i = n \\ \sum_{i=1}^{n-k+1} l_i = k}} \frac{n!}{\sum_{i=1}^{n-k+1} l_i} \prod_{i=1}^{n-k+1} \left(\frac{x_i}{i!}\right),$$

where $\mathbb{N}_0 = \{0, 1, 2, \dots\}$. Also, these polynomials can be generated by

$$\frac{1}{k!} \left(\sum_{n=1}^{\infty} x_n \frac{t^n}{n!} \right)^k = \sum_{n=k}^{\infty} \mathcal{B}_{n,k}(x_1, x_2, \cdots) \frac{t^n}{n!}.$$
(5)

In [5], for a positive integer n, Faà di Bruno formula is described in terms of the Bell polynomials of the second kind $\mathcal{B}_{n,k}(x_1, x_2, \cdots, x_{n-k+1})$ by

$$\frac{d^n}{dt^n}(f(h(t))) = \sum_{k=1}^n f^{(k)}(h(t))\mathcal{B}_{n,k}(h'(t), h''(t), \cdots, h^{(n-k+1)}(t)).$$
(6)

There are some interesting computations involving the Bell polynomials of the second kind. For example, the formula

$$\mathcal{B}_{n,k}\left(1, 1-\lambda, (1-\lambda)(1-2\lambda), \cdots, \prod_{i=0}^{n-k} (1-i\lambda)\right) = \frac{(-1)^k}{k!} \sum_{i=0}^k (-1)^i \binom{k}{i} (i)_{n,\lambda} \quad (7)$$

has been applied and reviewed in [8, 18-20]. Here

$$(x)_{0,\lambda} = 1$$
 and $(x)_{n,\lambda} = x(x-\lambda)(x-2\lambda)\cdots(x-(n-1)\lambda)$ for $n \ge 1$.

Let g(z) be an analytic function of z. A special value of Bell polynomials of the second kind is (see [6])

$$\sum_{n=k}^{\infty} \mathcal{B}_{n,k}(g'(0), g''(0), \cdots, g^{(n+1-k)}(0)) \frac{t^n}{n!} = \frac{(g(t) - g(0))^k}{k!}.$$

In [17], studying Grothendieck's inequality and correlation-preserving functions, Oertel obtained the following interesting identity for a positive integer n:

$$\sum_{k=0}^{2n} (-1)^k \frac{(2n+k)!}{k!} \mathcal{B}_{2n,k}^{\circ} \left(0, \frac{1}{6}, 0, \frac{3}{40}, \cdots, \frac{1+(-1)^{k+1}}{2} \frac{((2n-k)!!)^2}{(2n-k+2)} \right) = (-1)^n,$$

where

$$\mathcal{B}_{n,k}^{\circ}(x_1, x_2, \cdots, x_{n+1-k}) = \frac{k!}{n!} \mathcal{B}_{n,k}(1!x_1, 2!x_2, \cdots, (n+1-k)!x_{n+1-k}).$$

In [26], the authors defined a degenerate λ -array type polynomial $S(n, m; x; \lambda; \gamma)$ by

$$\frac{(\lambda(1+\gamma t)^{1/\gamma}-1)^m}{m!}(1+\gamma t)^{x/\gamma} = \sum_{n=0}^{\infty} S(n,m;x;\lambda;\gamma) \frac{t^n}{n!}.$$

They established two explicit formulas for $S(n, m; x; \lambda; \gamma)$ with the help of the Faà di Bruno formula and an identity of the Bell polynomials of the second kind. For example, for $n \in \mathbb{N}$,

$$S(n,m;0;\lambda;\gamma) = \frac{n!}{m!} \lambda^n (\lambda - 1)^m \sum_{k=1}^n \frac{(m)_k}{k!} \frac{1}{1/\lambda - 1} \sum_{l=0}^k (-1)^l \binom{k}{l} \binom{l/\lambda}{n}.$$

2. Some Results

In this section, we will get new identities involving degenerate q-Euler numbers, degenerate q-Euler polynomials with weight α and q-Changhee polynomials with weight α .

Theorem 1. For a positive integer n, we have

$$\mathcal{E}_{q^{\alpha},n}(\beta) = [2]_{q^{\alpha}} \sum_{k=1}^{n} \sum_{i=0}^{k} (-1)^{i} \frac{q^{k(\alpha+2\beta)}(i)_{n,\lambda}}{(q^{\alpha+2\beta}+1)^{k+1}} \binom{k}{i}$$

and

$$\mathcal{C}_{q^{\alpha},n}(\beta) = [2]_{q^{\alpha}} \sum_{k=1}^{n} \sum_{i=0}^{k} (-1)^{i} \frac{(i)_{n,\lambda}}{(q^{\alpha+2\beta}+1)^{k+1}} \binom{k}{i}.$$

Proof. Let $f(u) = \frac{[2]_{q^{\alpha}}}{q^{\alpha+2\beta}u+1}$ and $u = h(t) = (1 + \lambda t)^{1/\lambda}$. From (6), we have

$$\frac{d^{n}}{dt^{n}} \left(\frac{[2]_{q^{\alpha}}}{q^{\alpha+2\beta}(1+\lambda t)^{1/\lambda}+1} \right) \\
= \sum_{k=1}^{n} \frac{d^{k}}{du^{k}} \left(\frac{[2]_{q^{\alpha}}}{q^{\alpha+2\beta}u+1} \right) \mathcal{B}_{n,k}(h'(t),h''(t),\cdots,h^{(n-k+1)}(t)) \\
= \sum_{k=1}^{n} \frac{(-1)^{k}k!q^{k(\alpha+2\beta)}[2]_{q^{\alpha}}}{(q^{\alpha+2\beta}u+1)^{k+1}} \\
\times \mathcal{B}_{n,k} \left((1+\lambda t)^{\frac{1}{\lambda-1}}, (1+\lambda t)^{\frac{1}{\lambda-2}}(1-\lambda), \cdots, (1+\lambda t)^{\frac{1}{\lambda-n+k-1}} \prod_{l=0}^{n-k} (1-l\lambda) \right)$$

and by (7), it equals to

$$\sum_{k=1}^{n} \frac{(-1)^{k} k! q^{k(\alpha+2\beta)}[2]_{q^{\alpha}}}{(q^{\alpha+2\beta}+1)^{k+1}} \frac{(-1)^{k}}{k!} \sum_{i=0}^{k} (-1)^{i} \binom{k}{i} (i)_{n,\lambda}$$

as $t \to 0$. Considering the generating function in (2), we have the first identity. Similarly, using (4), we have the second identity. \Box

Theorem 2. For a positive integer n, we have

$$\mathcal{E}_{q^{\alpha},n}(x \mid \beta) = [2]_{q^{\alpha}} \sum_{k=1}^{n} \sum_{l=0}^{k} \sum_{i=0}^{k} \frac{(-1)^{i+k+l} q^{l(\alpha+2\beta)}}{(q^{\alpha+2\beta}+1)^{l+1}} \frac{l!}{k!} \binom{k}{l} \binom{k}{i} (i)_{n,\lambda}(x)_{k-l}$$

and

$$\mathcal{C}_{q^{\alpha},n}(x \mid \beta) = [2]_{q^{\alpha}} \sum_{k=1}^{n} \sum_{l=0}^{k} \sum_{i=0}^{k} \frac{(-1)^{i+k+l}}{(q^{\alpha+2\beta}+1)^{l+1}} \frac{l!}{k!} \binom{k}{l} \binom{k}{i} (i)_{n,\lambda} (x+1)_{k-l}.$$

Proof. Let $f(u) = \frac{[2]_{q^{\alpha}}}{q^{\alpha+2\beta}u+1}u^x$ and $u = h(t) = (1 + \lambda t)^{1/\lambda}$. From the generating function of $\mathcal{E}_{q^{\alpha},n}(x \mid \beta)$ and (6) we have

$$\begin{aligned} &\frac{d^{n}}{dt^{n}} \left(\frac{[2]_{q^{\alpha}}}{q^{\alpha+2\beta}(1+\lambda t)^{1/\lambda}+1} (1+\lambda t)^{x/\lambda} \right) \\ &= \sum_{k=1}^{n} \frac{d^{k}}{du^{k}} \left(\frac{[2]_{q^{\alpha}}}{q^{\alpha+2\beta}u+1} u^{x} \right) \mathcal{B}_{n,k}(h'(t),h''(t),\cdots,h^{(n-k+1)}(t)) \\ &= \sum_{k=1}^{n} \sum_{l=0}^{k} \binom{k}{l} \frac{(-1)^{l} l! [2]_{q^{\alpha}} q^{l(\alpha+2\beta)}}{(q^{\alpha+2\beta}u+1)^{l+1}} u^{x-k+l}(x)_{k-l} \\ &\times \mathcal{B}_{n,k} \left((1+\lambda t)^{\frac{1}{\lambda-1}}, (1+\lambda t)^{\frac{1}{\lambda-2}} (1-\lambda), \cdots, (1+\lambda t)^{\frac{1}{\lambda-n+k-1}} \prod_{l=0}^{n-k} (1-l\lambda) \right). \end{aligned}$$

With the help of (7), we write

$$\frac{d^n}{dt^n} \left(\frac{[2]_{q^\alpha}}{q^{\alpha+2\beta}(1+\lambda t)^{1/\lambda}+1} (1+\lambda t)^{x/\lambda} \right)$$
$$= \sum_{k=1}^n \sum_{l=0}^k \binom{k}{l} \frac{(-1)^l l! [2]_{q^\alpha} q^{l(\alpha+2\beta)}}{(q^{\alpha+2\beta}+1)^{l+1}} (x)_{k-l} \frac{(-1)^k}{k!} \sum_{i=0}^k (-1)^i \binom{k}{i} (i)_{n,\lambda}$$

as $t \to 0$. So, we have the first identity. Similarly, the second identity can be proved. The proof is complete.

Remark 1. Some values of $\mathcal{E}_{q^{\alpha},n}(x \mid \beta)$ and $\mathcal{C}_{q^{\alpha},n}(x \mid \beta)$ are:

$$\begin{aligned} \mathcal{E}_{q^{\alpha},0}(x \mid \beta) = & \mathcal{C}_{q^{\alpha},0}(x \mid \beta) = \frac{[2]_{q^{\alpha}}}{q^{\alpha+2\beta}+1}, \\ \mathcal{E}_{q^{\alpha},1}(x \mid \beta) = & \frac{[2]_{q^{\alpha}}(-q^{\alpha+2\beta}+xq^{\alpha+2\beta}+x)}{(q^{\alpha+2\beta}+1)^2}, \\ \mathcal{C}_{q^{\alpha},1}(x \mid \beta) = & \frac{[2]_{q^{\alpha}}((x+1)q^{\alpha+2\beta}+x)}{(q^{\alpha+2\beta}+1)^2}, \end{aligned}$$

$$\begin{split} \mathcal{E}_{q^{\alpha},2}(x\mid\beta) = & \frac{[2]_{q}\left(-x-q^{\alpha+2\beta}\left(2x-1\right)-q^{2\alpha+4\beta}\left(x-1\right)\right)\lambda}{2\left(q^{\alpha+2\beta}+1\right)^{2}} \\ &+ \frac{[2]_{q}\left(q^{2\alpha+4\beta}\left(x-1\right)^{2}-q^{\alpha+2\beta}(2x-2x^{2}+1)+x^{2}\right)}{2\left(q^{\alpha+2\beta}+1\right)^{2}}, \\ \mathcal{C}_{q^{\alpha},2}(x\mid\beta) = & \frac{[2]_{q}\left(-x-q^{\alpha+2\beta}\left(2x+1\right)-q^{2\alpha+4\beta}\left(x+1\right)\right)\lambda}{2\left(q^{\alpha+2\beta}+1\right)^{2}} \\ &+ \frac{[2]_{q}\left(q^{2\alpha+4\beta}\left(x+1\right)^{2}+q^{\alpha+2\beta}\left(2x^{2}+2x-1\right)+x^{2}\right)}{2\left(q^{\alpha+2\beta}+1\right)^{2}}. \end{split}$$

We will examine the graphical representations of these polynomials for different values of indices in the following figures.



FIGURE 1. Two angles of the graph of $\mathcal{E}_{(1/3)^2,2}(1)$ for -10 < x < 10 and $-9 < \lambda < 9$ plotted by Wolfram Mathematica 11.2.



FIGURE 2. Two angles of the graph of $C_{(1/3)^2,2}(1)$ for -10 < x < 10 and $-9 < \lambda < 9$ plotted by Wolfram Mathematica 11.2.

Theorem 3. For a positive integer n, we have

$$\sum_{i=1}^{n} \binom{n}{i} \mathcal{E}_{q^{\alpha},n-i}(x \mid \beta)(1)_{i,\lambda} = \mathcal{E}_{q^{\alpha},n}(x+1 \mid \beta) - \mathcal{E}_{q^{\alpha},n}(x \mid \beta)$$

and

$$\sum_{i=1}^{n} \binom{n}{i} \mathcal{C}_{q^{\alpha},n-i}(x \mid \beta)(1)_{i,\lambda} = \mathcal{C}_{q^{\alpha},n}(x+1 \mid \beta) - \mathcal{C}_{q^{\alpha},n}(x \mid \beta).$$

Proof. Consider

$$\begin{split} \sum_{n=0}^{\infty} \left(\mathcal{E}_{q^{\alpha},n}(x+1\mid\beta) - \mathcal{E}_{q^{\alpha},n}(x\mid\beta) \right) \frac{t^{n}}{n!} &= \frac{[2]_{q^{\alpha}}}{q^{\alpha+2\beta}(1+\lambda t)^{\frac{1}{\lambda}} + 1} (1+\lambda t)^{\frac{x+1}{\lambda}} \\ &- \frac{[2]_{q^{\alpha}}}{q^{\alpha+2\beta}(1+\lambda t)^{\frac{1}{\lambda}} + 1} (1+\lambda t)^{\frac{x}{\lambda}} \\ &= \frac{[2]_{q^{\alpha}}}{q^{\alpha+2\beta}(1+\lambda t)^{\frac{1}{\lambda}} + 1} (1+\lambda t)^{\frac{x}{\lambda}} \\ &\times ((1+\lambda t)^{\frac{1}{\lambda}} - 1). \end{split}$$

By (2), we write

$$\sum_{n=0}^{\infty} \left(\mathcal{E}_{q^{\alpha},n}(x+1\mid\beta) - \mathcal{E}_{q^{\alpha},n}(x\mid\beta) \right) \frac{t^n}{n!} = \sum_{n=0}^{\infty} \mathcal{E}_{q^{\alpha},n}(x\mid\beta) \frac{t^n}{n!} \sum_{n=1}^{\infty} \frac{(1)_{n,\lambda}}{n!} t^n$$
$$= \sum_{n=1}^{\infty} \sum_{i=1}^n \binom{n}{i} \mathcal{E}_{q^{\alpha},n-i}(x\mid\beta)(1)_{i,\lambda} \frac{t^n}{n!}.$$

Thus, comparing coefficients of the terms $t^n/n!$, we have the first identity. The second one can be verified in a similar way.

Theorem 4. For a non-negative integer n, we have

$$\sum_{i=0}^{n} {n \choose i} \mathcal{E}_{q^{\alpha},n-i}(x-\lambda \mid \beta) \mathcal{E}_{q^{\alpha},i}(1 \mid \beta)$$
$$= [2]_{q^{\alpha}} q^{-\alpha-2\beta} \left(x \mathcal{E}_{q^{\alpha},n}(x-\lambda \mid \beta) - \mathcal{E}_{q^{\alpha},n+1}(x \mid \beta) \right)$$
(8)

and

$$\sum_{i=0}^{n} {n \choose i} \mathcal{C}_{q^{\alpha},n-i}(x-\lambda \mid \beta) \mathcal{C}_{q^{\alpha},i}(0 \mid \beta)$$
$$= [2]_{q^{\alpha}} \left((x+1) \mathcal{C}_{q^{\alpha},n}(x-\lambda \mid \beta) - \mathcal{C}_{q^{\alpha},n+1}(x \mid \beta) \right).$$
(9)

Proof. We know that

$$\frac{d}{dt}\left(\sum_{n=0}^{\infty}\mathcal{E}_{q^{\alpha},n}(x\mid\beta)\frac{t^{n}}{n!}\right)=\sum_{n=0}^{\infty}\mathcal{E}_{q^{\alpha},n+1}(x\mid\beta)\frac{t^{n}}{n!}.$$

On the other hand, using the right hand side of (2) we get

$$\begin{split} \frac{d}{dt} \left(\frac{[2]_{q^{\alpha}}}{q^{\alpha+2\beta}(1+\lambda t)^{1/\lambda}+1} (1+\lambda t)^{x/\lambda} \right) \\ &= \frac{-[2]_{q^{\alpha}} q^{\alpha+2\beta}}{\left(q^{\alpha+2\beta}(1+\lambda t)^{\frac{1}{\lambda}}+1\right)^2} (1+\lambda t)^{\frac{x-\lambda+1}{\lambda}} \\ &+ x \frac{[2]_{q^{\alpha}}}{q^{\alpha+2\beta}(1+\lambda t)^{\frac{1}{\lambda}}+1} (1+\lambda t)^{\frac{x-\lambda}{\lambda}} \\ &= \frac{[2]_{q^{\alpha}}}{q^{\alpha+2\beta}(1+\lambda t)^{\frac{1}{\lambda}}+1} (1+\lambda t)^{\frac{x-\lambda}{\lambda}} \\ &\times \left(\frac{-q^{\alpha+2\beta}}{[2]_{q^{\alpha}}} \frac{[2]_{q^{\alpha}}}{q^{\alpha+2\beta}(1+\lambda t)^{\frac{1}{\lambda}}+1} (1+\lambda t)^{\frac{1}{\lambda}}+x\right) \\ &= \sum_{n=0}^{\infty} \mathcal{E}_{q^{\alpha},n}(x-\lambda\mid\beta) \frac{t^n}{n!} \left(\frac{-q^{\alpha+2\beta}}{[2]_{q^{\alpha}}} \sum_{n=0}^{\infty} \mathcal{E}_{q^{\alpha},n}(1\mid\beta) \frac{t^n}{n!}+x\right) \\ &= \frac{-q^{\alpha+2\beta}}{[2]_{q^{\alpha}}} \sum_{n=0}^{n} \sum_{i=0}^{n} \frac{\mathcal{E}_{q^{\alpha},n-i}(x-\lambda\mid\beta)\mathcal{E}_{q^{\alpha},i}(1\mid\beta)}{(n-i)!i!} t^n \\ &+ x \sum_{n=0}^{\infty} \mathcal{E}_{q^{\alpha},n}(x-\lambda\mid\beta) \frac{t^n}{n!} \\ &= \sum_{n=0}^{\infty} \left(x\mathcal{E}_{q^{\alpha},n}(x-\lambda\mid\beta) \frac{t^n}{n!}\right) \\ &= \sum_{n=0}^{\infty} \left(x\mathcal{E}_{q^{\alpha},n}(x-\lambda\mid\beta) \frac{t^n}{n!}\right)$$

From the equality of formal power series, we have the first identity. Similarly, the second identity can be proved. The proof is complete. $\hfill \Box$

Theorem 5. For a non-negative integer n, we have

$$\sum_{i=0}^{n} \binom{n}{i} \mathcal{E}_{q^{\alpha},n-i}(\beta) \mathcal{E}_{q^{\alpha},i}(\beta)$$
$$= -\left[2\right]_{q^{\alpha}} q^{-\alpha-2\beta} \sum_{i=0}^{n} \binom{n}{i} (1-1/\lambda)_{n-i} \lambda^{n-i} \mathcal{E}_{q^{\alpha},i+1}(\beta)$$

and

$$\sum_{i=0}^{n} \binom{n}{i} \mathcal{C}_{q^{\alpha},n-i}(\beta) \mathcal{C}_{q^{\alpha},i}(\beta) = -\left[2\right]_{q^{\alpha}} \sum_{i=0}^{n} \binom{n}{i} (1-1/\lambda)_{n-i} \lambda^{n-i} \mathcal{C}_{q^{\alpha},i+1}(\beta)$$

Proof. Let the function f(t) be defined as

$$f(t) = \sum_{n=0}^{\infty} \mathcal{E}_{q^{\alpha},n}(\beta) \frac{t^n}{n!} = \left(\frac{q^{\alpha+2\beta}(1+\lambda t)^{1/\lambda}+1}{[2]_{q^{\alpha}}}\right)^{-1}$$

Taking the derivative of f(t) for the variable t, we have

$$f'(t) = \sum_{n=0}^{\infty} \mathcal{E}_{q^{\alpha}, n+1}(\beta) \frac{t^n}{n!},$$
(10)

and thus

$$f'(t) = -\left[2\right]_{q^{\alpha}}^{2} \left(q^{\alpha+2\beta} \left(1+\lambda t\right)^{\frac{1}{\lambda}}+1\right)^{-2} \frac{q^{\alpha+2\beta}}{\left(1+\lambda t\right)^{\frac{\lambda-1}{\lambda}}} \frac{1}{[2]_{q^{\alpha}}}$$
$$= -f^{2}(t) \frac{q^{\alpha+2\beta}}{\left(1+\lambda t\right)^{\frac{\lambda-1}{\lambda}}} \frac{1}{[2]_{q^{\alpha}}}.$$

From here, we have

$$f^{2}(t) = \frac{-[2]_{q^{\alpha}}}{q^{\alpha+2\beta}} (1+\lambda t)^{\frac{\lambda-1}{\lambda}} f'(t)$$

$$= \frac{-[2]_{q^{\alpha}}}{q^{\alpha+2\beta}} \sum_{n=0}^{\infty} \left(\frac{\frac{\lambda-1}{\lambda}}{n}\right) \lambda^{n} t^{n} \sum_{n=0}^{\infty} \mathcal{E}_{q^{\alpha},n+1}\left(\beta\right) \frac{t^{n}}{n!}$$

$$= \frac{-[2]_{q^{\alpha}}}{q^{\alpha+2\beta}} \sum_{n=0}^{\infty} \sum_{i=0}^{n} \left(\frac{\frac{\lambda-1}{\lambda}}{n-i}\right) \frac{\lambda^{n-i} \mathcal{E}_{q^{\alpha},i+1}\left(\beta\right)}{i!} t^{n}.$$
(11)

On the other hand,

$$f^{2}(t) = \sum_{n=0}^{\infty} \sum_{i=0}^{n} \frac{\mathcal{E}_{q^{\alpha}, n-i}(\beta) \mathcal{E}_{q^{\alpha}, i}(\beta)}{(n-i)! i!} t^{n}.$$
 (12)

Because the left hand sides of (11) and (12) are equal, the right hand sides must be equal too. From the equality of power series, we have the first identity. Similarly, the second one can be proved. So, the proof is complete.

References

- M. Braun, M. Kiermaier, and A. Wassermann, q-analogs of designs: Subspace designs, in: Network Coding and Subspace Designs, Springer, 2018, pp. 171–211.
- [2] L. Carlitz, Degenerate Stirling, Bernoulli and Eulerian numbers, Util. Math. 15 (1979), 51–88.
- [3] A. Chakrabarti, q-analogs of IU(n) and U(n, 1), J. Math. Phys. 32 (1991), 1227–1234.
- [4] C. A. Charalambides, *Enumerative Combinatorics*, Chapman&Hall/CRC Press, Boca Raton, 2002.
- [5] L. Comtet, Advanced Combinatorics: The Art of Finite and Infinite Expansions, D. Reidel Pub. Co., Dordrecht, 1974.

- [6] L. Dai and H. Pan, Closed forms for degenerate Bernoulli polynomials, Bull. Austral. Math. Soc. 101 (2020), 207–217.
- [7] S. Gaboury, R. Tremblay, and B. J. Fugère, Some explicit formulas for certain new classes of Bernoulli, Euler and Genocchi polynomials, Proc. Jangjeon Math. Soc. 17 (2014), 115–123.
- [8] B.-N. Guo and F. Qi, Viewing some ordinary differential equations from the angle of derivative polynomials, Iranian J. Math. Sci. Inform. 16 (2021), 77–95.
- [9] M. Ismail, M. E. H. Ismail, and W. Assche, *Classical and Quantum Orthogonal Polynomials in One Variable*, Vol. 13, Cambridge University Press, 2005.
- [10] D. S. Kim, T. Kim, and J. J. Seo, A note on Changhee polynomials and numbers, Adv. Stud. Theor. Phys. 7 (2013), 993–1003.
- [11] T. Kim, q-generalized Euler numbers and polynomials, Russ. J. Math. Phys. 13 (2006), 293–298.
- [12] T. Kim, The modified q-Euler numbers and polynomials, Adv. Stud. Contemp. Math. 16 (2008), 161–170.
- [13] T. Kim, D. S. Kim, T. Mansour, S. H. Rim, and M. Schork, Umbral calculus and Sheffer sequences of polynomials, J. Math. Phys. 54(8) (2013), 083504.
- [14] T. Kim, H. I. Kwon, and J. J. Seo, Degenerate q-Changhee polynomials, Nonlinear Sci. Appl. 9 (2016), 2380–2392.
- [15] H. I. Kwon, T. Kim, and J. J. Seo, A note on degenerate Changhee numbers and polynomials, Proc. Jangjeon Math. Soc. 18 (2015), 295–305.
- [16] G. Na, Y. Cho, and J. W. Park, On a degenerate q-Euler polynomials and numbers with weight, J. Math. Comput. Sci. 20 (2020), 216–224.
- [17] F. Oertel, Grothendieck's inequality and completely correlation preserving functions

 a summary of recent results and an indication of related research problems, 2020, arXiv:2010.00746.
- [18] F. Qi and B. N. Guo, Explicit formulas for special values of the Bell polynomials of the second kind and for the Euler numbers and polynomials, Mediterr. J. Math. 14 (2017), 1–14.
- [19] F. Qi, D. W. Niu, D. Lim, and Y. H. Yao, Special values of the Bell polynomials of the second kind for some sequences and functions, J. Math. Anal. Appl. 491 (2020), 124382, 13pp.
- [20] F. Qi, V. Čerňanová, X. T. Shi, and B. N. Guo, Some properties of central Delannoy numbers, J. Comput. Appl. Math. 328 (2018), 101–115.
- [21] S. H. Rim and J. Jeong, On the modified q-Euler numbers of higher order with weight, Adv. Stud. Contemp. Math. 22 (2012), 93–98.
- [22] S. H. Rim, J. W. Park, J. Kwon and S. S. Pyo, On the modified q-Euler polynomials with weight, Adv. Difference Equ. 2013 (2013), 1–7.
- [23] H. M. Srivastava, Some generalizations and basic (or q-) extensions of the Bernoulli, Euler and Genocchi polynomials, Appl. Math. & Inform. Sci. 5 (2011), 390–444.
- [24] H. M. Srivastava, B. Kurt, and V. Kurt, Identities and relations involving the modified degenerate hermite-based Apostol-Bernoulli and Apostol-Euler polynomials, Rev. R. Acad. Cienc. Exactas, Fís. Nat. Ser. A. Mat. 113 (2019), 1299–1313.
- [25] N. L. Wang and H. Li, Some identities on the Higher-order Daehee and Changhee numbers, Pure Appl. Math. J. 4 (2015), 33–37.
- [26] L. Wu, X. Y. Chen, M. C. Dağlı and F. Qi, On Degenerate Array Type Polynomials, Computer Modeling in Engineering and Sciences 131 (2022), 295–305.

DEPARTMENT OF MATHEMATICS, KOCAELI UNIVERSITY, KOCAELI, TURKEY *E-mail address*: neseomur@gmail.com *E-mail address*: omer20841@gmail.com

Department of Mathematics, Bursa Uludağ University, Bursa, Turkey $E\text{-}mail\ address:\ \texttt{sibelkoparall0gmail.com}$